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Basic Toolkit for Section 7.2 - Trigonometric Integrals
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See Strategy for Evaluating | sin™x cos"x dx

Strategy for Evaluating | tan™x sec"x dx
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By using integration by parts. one can prove the reduction farmula.
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use this formula to find :-j] :I':(x}]3 di. [Use € for the constant of integration. )
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{c) | cos mx cos nx dx, use the corresponding identity:

(a) sinA cos B = i[sin{A — B) + sin(A + B)]

2 | To evaluate the integrals (a) | sin mx cos nx dx, (b) | sin mx sin nx dx, or

(b} sinA sin B = :l.[tu.kl.‘l - B) — cos(A + B)]

(c) cos A cos B = i[cos(A — B) + cos(A + B)]
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Evaluate the integral. (Use C for the constant of integration. )

['k = Jo +xl "/
. [PE S by o/
e+ = ——; L
Gir_ Gx* - L — 36-%

s B6-x"
b 7\ x
Lok et m GoSus 3 A
s = z

fuak  GéxzO, § (e W

P\)'H'Ia?d‘\'”"
"
W X= GQLG
r_ O dy= teos©
(O 5 J
= b~ b ¥
*
2 =\ =——
e 328
o (0% = f@
= 1-s6




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

